

$$y = \sqrt{x^r f(n+1)} = \sqrt{x^r \left(\frac{1}{x} \right)^{n+1} - 1}$$

$$\frac{1}{x^r} \times x^r - 1$$

$$x^r \times x^r - 1 = 0 \rightarrow x^{-n+1} = 1$$

$$\rightarrow -n+1 = 0 \rightarrow n = 1$$

$$\begin{array}{c} 0 & 1 \\ - & + & - \\ - & 0 & + & - \end{array} \rightarrow D_f = [0, 1]$$

۱

$$f(-x) = \sqrt{-x + |r-x|}$$

$$f(x) = \begin{cases} \sqrt{-x - r + x} & ; x \geq r \rightarrow 0 \leq x \\ \sqrt{-x + r - x} & ; x < r \end{cases}$$

$$\sqrt{-r+x} \quad \downarrow$$

نقطه: ۱

$$\begin{array}{c} 1 \\ + & 0 & - & * \\ - & + & - & * \end{array}$$

$$D_f = (-\infty, 1) = * \cap *$$

۲

$$y = \sqrt{\frac{x-1}{f(x)}} \rightarrow 1$$

$$\downarrow$$

$-\varepsilon, r, r$

$$\begin{array}{c} -\varepsilon & 1 & r & r \\ - & 0 & + & 0 & - & + & 0 & - \end{array}$$

$$D_f = [-\varepsilon, 1) \cup [r, r]$$

۳

$$y = \sqrt{f(x) - f\left(\frac{x}{n}\right)} = \sqrt{x^r + x - \left(\frac{x}{n}\right)^r - \frac{x}{n}} = \sqrt{\left(x - \frac{x}{n}\right) \left(x^r + 1 + \frac{14}{n^r}\right) + x - \frac{x}{n}}$$

میانگین

$$= \sqrt{\left(x - \frac{x}{n}\right) \left(x^r + \frac{14}{n^r} + 9\right)}$$

حد در حد

$$\begin{array}{c} -r & 0 & r \\ - & 0 & + & 0 & - & + \end{array}$$

$$D_f = [-r, 0) \cup [r, +\infty)$$

۴

$$(x^r + p n + q)(x^r + r n + s) = 9x^r + (3r + 9p)x^r + (pr + 9q + 9s)x^r$$

$$+ (ps + 9r)n + 9s$$

$$= 9x^r - 7x^r - 9x - 9$$

$$\begin{cases} 3r + 9p = 0 \\ 9s = -9 \\ ps + 9r = -9 \\ pr + 9q + 9s = -9 \end{cases}$$

$$r = -p = 1, q = -r, s = 1 \rightarrow (x^r - n - 1)(x^r + n + 1) \rightarrow a = -1$$

$$b = -9$$

$$\sqrt{-(a+b)} = 2$$

۵

$$f(r) + f(10) = f(r+1) + f(r+9) = r-1 + 1-1 = 1$$

6

$$f(n) = n^2 - 9n^2 + 12n + 1 - 1 = (n-2)^2 + 1 =$$

$$g(n) = n^2 + 9n^2 + 12n + 1 - 1 = (n+2)^2 - 1$$

$$\frac{g(\sqrt{r}-2)}{f(\sqrt{r}+2)} = \frac{r-2r}{r+1} = \frac{-r}{1} = -r$$

7

$$\begin{aligned} (f(n))^2 + (g(n))^2 + 2f(n)g(n) &= (n-2\sqrt{n-1})^2 + (n+2\sqrt{n-1})^2 + 2(n-2\sqrt{n-1})(n+2\sqrt{n-1}) \\ &= 4n + 2\sqrt{n^2 - 4(n-1)} = 4n + 2\sqrt{n^2 - 4n + 4} = 4n + 2(n-2) = 6n - 4 \rightarrow f(n) + g(n) = \sqrt{6n-4} \\ &= 2\sqrt{n-1} \rightarrow \frac{a+b}{c} = \frac{0+r}{-1} = -\frac{1}{r} \end{aligned}$$

8

$$f(n) = \frac{n+2}{(n-2)(n-1)} = f(n) = \{(2, -2), (0, \frac{1}{2}), \dots\}$$

$$\frac{g}{f} = \{(2, -\frac{1}{2}), (0, 4)\}$$

9

$$الف) f(rn) = \{(\frac{1}{r}, r), (\frac{r}{r}, -1), (r, r), (-\frac{1}{r}, 4)\}$$

$$ب) f(n^2) = \{(1, r), (\sqrt{n}, -1), (r, r), \}$$

$$ج) r g(n) + 1 = \{(-r, 19), (1, 4), (r, 9), (-1, 1)\}$$

$$د) \frac{rf}{g} = \{(1, -2)\}$$

10